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Last time we defined
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,
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c(z) = (6(7)/2 +
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° (X
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7) = (X
,
7)
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,
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,
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But it remains to establish the

basic properties .

The first thing we need is the

Snake Lemma Give a commutative
-

dia gran I'm Ab(x) not exact-ons
f

8 -> A -> B -> C -> O
ah B t W &

0 -> D
-> E -> F

q
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Fa-Her m are check. 6'(K) < ind
Su me get an induced

map

Ku- v = P/k -> caker a

To finish
,

we need to check

exectness f (D), butme can

do this on stalks
,
so Ho u sul pf,

for Ab works .

X

Lemma 2 The Luncher C : Ab(x)-> Ab(x) is exact
.

-

of f 0-a - B + C + 0
-

is exact in Ab(x)

· as Bp-2p -> ·

· S exact . Theref
a - 6(a) + 6(B) -6() = 0

is exact. 4

L If 0 + a - - + 2 0 is exact

in Ab(x)
,
He





③
Apply Lemmas and use he foot

that 6(a) is flasque -> o there

from last week ↳ obtain

o + T(6(al) + T(6(B)) + T((2)) - 0

↓ L ↓
o
+ T(c(a)) - (C(B)) - Tell

Now apply the snake lenme t this

to get te 6 tern sequence

claimed in the theorem /

CanIf H' (X
,

a) = 0
,

M
--

T(x
,

B) - T(X
,

2)

is surjection
.

To usehisme need to establish
· so called vanishing theore. Here is a

-

simple expel

Prop If I is flasge , : > 0--

H"(X
,
7) = 0.
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I a continue 9 : X -> /R which

is I in given a
ubnol f Y and O

a way for Y Ci
-- f6C(Y)

If can
be extended by 0 to

a global continuous funct

The 18 X is a C% man , Gold
,

-

co is soft .
*

#f By standard tricks
,
we can choose

a
CO cutoff funche as a bou.

Def A shof FC Ab (x) is a slef f
-

modules over a sheef of rings R .

If each F(U) is an RCU) - model

as (rf) 1 = ) . flu L VER(U)
W L

fo FCU)
.

Pop (Ove- a metric space X)

If R is a soft slof of rivos,
the

an
R-model is soft .
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of Choose 8t FCX)

,

wih Y closed
.

L I

The 8 is debd on an open able UXY
.

SinceDis saft
,

the sechn = (a y

al 0 a X-1
,
extend to a global

secle 9 EUR(X). The f . f extende

by 0 t all of X
.

Cor 18 X is a monfeld
, any

model
-

- CQ is soft

Enough excale
,
now we come to he

key point

Main Ther If X is metrozole
,
al

--

10 Ab()) is soft, the

It"(X
,
7) = 0 Ki > 0 .











↳
This is a speci cas of de Rhani
thm

.


